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Problem 1 (8 pts): Post Bearing

Given: Load =D + L,
Post = 4x6 (3.5" x 5.5")
F¢" =1,485 psi
Cp=0.525
Fey = 625 psi

a) What is the value of Cp?

b) What is the maximum allowable load P?
What is the limiting condition?

"

Q) anvwwe Lend > 2

W 42"
Bl b
4/m C .
1) ‘:’ru;'r(, CLNEA. =
“4/4 F(’_' = O & Btk Fe

! 7

€ = y e,
= (2i02s)(Iugspsi ) = F59 psi 7674 ps
5/5 Problem 2 (8 pts): Shear with Notch and Point Load

Given: Load =D +L
Beam = 6x16 (5.5" x 15”)
@9 170 psi

“/4a) Whatis the reduction factor for P?

4y b) What is the maximum allowable load

G [‘;. Fv’ l’,t‘)n](%!)‘_) Jh:/f”-l]"’:ﬂ.f"

E [_Z;’(Hof\;)(f.j“)lh,s-n)][_%‘:' 3! ST
s kips

oyl 2 5w kips
P <\ 55 ki ps l/ :

D+

vix)
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19//1, Problem 3 (10 pts): Two-Story Column Stack

Given: Species = DF #1
Column = 6x8 (5.5"x 7.5" )
Assume separate pieces at both levels
Ke=1.0
,000 psi
Fn—;r = 580,000 psi

2/2 a) Whatis the controlling l./d at Level 17
2/2 b) What is the controlling l,/d at Level 27
2 ¢) Assume the controlling load at Level 2 is (D +
L:) = 20,000 Ibs. and Cp = 0.289. What is the

column D/C ratio at Level 27

2/2 d) What is the value of F., at Level 2 for the load
case (D+L,)?

2/2€) Assume the column is continuous over the two stories, giving Ke = 0.80. Now what is
the value of F,, at Level 2 for the load case (D+L, )? How will this affect the final D/C
ratio for this colu No thed

/Lufu,’fvu'zmq In j»fﬁ’. f

A= (§ PR ) 4125t
'ZOUoo'v
7% ‘{ 4l7l;r“
0 822 Enin

_F"' By

| y '
Ry TR
FCE— —{'—'LM- (_“\_ )r;gooo» n.)

(Afr) (e
-4ahn’}“z#'. wneresse Ahy yelue of Cr 1mc/ Jhm{m Fé \”
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Q
Problem 4 (8 pts): Hanger Strap m

N

Given: Species = DF #1 (G = 0.50)
Hanger tension load = Dead only
Lag Screw =3/8"x 6"
Thread len. T = 3.5"
Tip len. E = 0.25"

a) For Version I, what is the allowable Pp VERSION | VERSION 1l
for this connection? T

b) What is the difference between Versions 1 & 2 in terms of their effect on the

supporting beam? Which is preferable?

Q)W fon ADS fv G 0.5, $= 3/8
jf»: JoF = 3.3"-01"'= 3,26 ‘/

\/\/‘: '4/( Cr)(\/f G ("'J Gon ) =%t

W= (75 1b/n )B3.uY)=

¢ Pp ﬁ‘i‘,z lb ﬁ
Problem 5 (8 pts) Yield Limit Equations & Dowel 8
Bearing

Mode s = dowel bearing yield in side member
Mode I, = dowel bearing yield in main member N__MAIN: G
Mode Il = rigid body rotation of fastener ’OIN_O-?‘

SIDE: G
a) For which joints will the Mode I capacity be

greater than the Mode I capacity?

b) For which joints must Mode Il be checked?

N T MAIN = 05
~ ¢) Whichjointwill have the greatest capacity? Why? 1OINT 22 . ‘
- 3 N IR = o b, Cr
- d) Given fastener diameter D = 0.75" and G = 0.80,

 calculate Feyand Fe, IR

200
- %
T

MAINI G = 05
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Name:

(7)

{
\

Problem 6 (8 pts) Truss Chord Splice

A 1 -
Given: Species = DF #1 3:__ | " [H 5 R C
Chord = 4x8 (3.5"x7.25") =,_a— 35 % |
Type = softwood R s |

Tension load = Seismic L l_ . ‘ ‘J,
F:= 675 psi L3 Al
Cr (tension) = 1.2 PLAN
~17 DIA
M.B. TYP

TR A

a5 - —— —@ - g
Y o~

. : ELEVATION
a) What is the value of C, for this =
connection?

b) Using the value of C, calculated above, what is the allowable tension load for this
connection?

¢) If the allowable connection load is taken as 7,250 Ibs., what is the D/C ratio for the
chord members?

a) end distanu Newine went Spet bR o ede
qetued - y" My L vw ., €4 =
u‘iw"o’f"" L A - el gaediys jre
Caki= 7, = 0,5+ @ svdcmﬁ /1/-"\7 Row (7_, 6D 7 4N
(1S Ca 2| 6.3-

mhrfw g1’ bolts | DF (Gzos®) , Z2y=2560 I} ,g,;‘: 70 [ b

) WM ""fmm > we 2o

/ %CA%GL Cth)_(néulb (1.6 (og%)-bub\,b

¢ > Paulmable ¢ (»ol.llL\m'(lu'?L‘Q _l/
2254 v | Ans Aot ol*/ W = a0 (3 )
: s’ﬂ/«/ps; = 2, (&Fm Y
HF" )US")“L) 1296 ps 6'_6_6;‘
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